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Thm 8-6 Example

T hese A's are similar.
1) [ind ratio (larger to smaller) ojﬁlj_i:zcdms. 6

2) [ind rz{a_t/ig_\(larger to smaller) of their areas. 4

Thms-6 Example...

3) T he ratio of the leng‘c}ws of the correspomdimg sides of two

regular octagons is 8:3. T}we area of the largcr IS 57_01Ct2.
IFind the area of the smaller.
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Thms-6 Examp]e...

4) Penita Plants the same crop in 2 rectangularﬁelds

SH with side ]ex“g‘c‘ﬂo in a ratio of 2: 3. Mg iwla is ¢ ﬁ*%

E_ach dimension of the largerlcielc! 1s 5 /2 times the dimen?ion

swel |
of the smaller. L> 5(&

avuzz» siaal)

}16 small field costs $8. SR m
f“low.much does sceding the larger{:ie]d cost? \"
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5 Go to next page...
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Thms-6 Examp]e...

T he areas of 2 similar polys are 32in” & 72in’.
Py

5) What is their SR 7

6) What is the ratio of their Perimcters? = 5«

=73

7 Go to the next page...
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Thms-6 ]_:__xam!:)]e...

The SR of 2 similar A's is 5:3.
The Perim of the smalleris 36cm & its areais i 8cm’.
=60

7) Find the Perimeter of the larger A.
8) I"ind the area of the lal‘ger A< 5O

‘ | 8-6 [omework [roblems I

Pe456 #1-22,24,25-32,35-37, 40-44
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